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Name / Index No.

Answer all questions.
Underline the correct or most suitable answer among given answer;

01. Below chart shows the greetings received by Séfnan from the en he the O/L
examination before three years and upto now against time. ing the things which
represent this chart are given from A to D.

(A) The validity of an informatig anged by the passing of
il time.
§ 2 entis no‘creased by the passing of time.
CF B m this chart regarding the timeliness of
\WM :
Time : of andnformation is maximized when it is created.

Which is the correct statement/s
(1) - Aand B only 2) A

02. Diagnosing of diseases
using Information and G

above equipme ifs' organ
Equi nt Testing organ
& a. Record the activities of the brain —
b. Monitor the heart beat
‘ MRI ¢. Made three dimensional images of different parts of body
d. Create images of internal organs of the body
Lll__c’dab (2) cadb (3) dcab (4) dcab

03. Consider the following statements regarding various storage devices.
A. The memory of RAM capacity is larger than the memory of register capacity.
B. The access speed of register memory is larger than the access speed of RAM.

C. The cost of price per one bit of RAM is more expensive than the cost of price per one bit
of register. '

What is the correct statement/statements from above?

(1) Aonly ' (2) Bonly (3) AandBonly (4) AlA,BandC



04.

0s.

06.

07.

08.

09.

10.

11.

12

In computer internal operation, coding systems are used to represent various characters. Which is
the answer that includes only coding systems used to represent 5, A, e characters?

(1) BCD, ASCII, EBCDIC (2) ASCII, EBCDIC, Unicode
(3) BCD, Unicode, EBCDIC (4) BCD, Unicode, ASCII

Which is the correct order of Least Significant Digit(LSD) and Most Significant Digit(MSD) of
50.3580?

10,5 : 28,5 3)5,8 > ash

Which answer is equant to 4A ,?
D75, (2) 72, (3)74,, (4) 100011

Which is the answer when arranged 1000110, 60,, 50, 3A,, numbers in descendi g Ord
(1) 60, 3A,,50,1000110, (2) 60,,50,3A,,,1000110,

- (3)50,3A,,,1000110,, 60, (4) 1000110,,3A,,, 50,60
Which answer is equant to 2 GB?

(1) 2x2,,MB (2)4x2,,KB (3)2,,Byte
What s the answer included only optical media data stora ices? ‘

(1) Digital Versatile Disk (DVD), Compact Disk (CD) /Blu
(2) Digital Versatile Disk (DVD), Hard Disk, Blue-
(3) Hard Disk, Floppy Disk , Magnetic
(4) None of above

Tape

all computers in his office with the

Ashen who is conducting a busine S,
i ing to below diagram. Which is the answer

purpose of regulating in his offi

that include network type and fop respectively?

(1) Wide Area Network and StarTe E l:__‘—l

(2) Metropolitan Area -

(3) Local Area Netw

-(Tts-LocalArea %1 E
Following i i ckside page of a book. What is the correct answer for the code
re*sente is i and its' duty? EH E '

(1) Bar Co ode number that can be taken details of a good o H

QQR ar code number that can be taken details of a good ﬁ?ﬂ'

- (3)BarCo aweb address ofa good E v
(4) QR Code — aweb address ofa good

Following is a diagram which denotes the content of
an integrated circuit. Here, What is the correct
answer of the output in 3 and 10 ports after
inputting 1 and 0 into 1,2 and 8,9 ports respectively?

(10,0 20,1
31,0 @1,1

e 4
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. What is the logic gate represent in below circuit? R

——— AMAMMA—
() NOT :
(2) AND AN Q
(3) OR

e |,
(4)NAND L

14. Money locker of a teller machine used in paying counter opens when electricity is
available and identifying the finger print or face of the cashier. What is the correct order of
logic gates regarding above process respectively?

(1) OR gate and AND gate (2) NOT gate and AND gate
(3) AND gate and OR gate (4)NAND gateand AND gate

15. Logic circuits with input x and y and its' truth table is

shown below. The correct order of the truth table values
for output F is, ‘Z;
X )
T :
(10,1,0,1 @1,1,1

16. Consider below statements regarding an op

for Graphical User Interface.
correct statement / statements ?

(1) Aonly (3) Aand Conly (4) AllIA,BandC

17. What is the included only Word Processing software?

—

en office Writer, VisiCalc

er, libre office Writer, Google Sheet

18. In an certain electronic spreadsheet, =(A2/A8) + A6 has been inserted in A15 cell. What is
the value, when 20,10,6 are inserted into A2,A8,A6 cells respectively?

(110 2)8 37 : 4)6
' G
19. In an electronic spreadsheet, data is included as below. What is the
answer which shows it correctly formatted? 0718372123
(1) Number (2) Scientific fREE/0n
e 0457803567
(3) Text (4) Percentage 0374459864




20. What is the output value of below formula inserted in a cell in an electronic spreadsheet
software?
=(3"2 /(4 -1"2)* 6 ) MOD 4
12 2 4 3)6 4)8
e
e Answer the questions by using below shown spreadsheet.
21. What is the answer when formula =MAX(A1:C3) is “ 2 ‘ g ' <
inserted into C3 cell? 1 = 4 &
m?2 2)3 2 41 3
36 @5 = =
4 -
22. Consider the formulae with below spreadsheet functions.
A.=Sum(B2$,$B3,B5)
B.=Average(B2:B5,C5)
C.=Sum(B2:B8,C5:C10)
What is the correct answer regarding the formula above tions?
(1) correctonly A tonly Band C
(3) correctonly Aand C ectallA,BandC
23. Consider the following state re g elgétronic data base.
A - The field which enab iden cord uniquely in a table is called primary key.

B - Efficiency ca reasing the data redundancy ofa relational database.

C - Acollectiono awhichisrelevant to one object or person is called arecord.
Whichisthec

¢Y)

rtements from above statements?
) Only Aand B (3) OnlyAand C (4) AllA,BandC

Gifts iven ne of bank for their customers who deposit money during the new year
fi da owing tables are used to store gifts and customer details.

Customer_Gift_Table

Acc_No | Deposit_Value Gift_No Received_Date
45670 Rs. 5000.00 | 100 15/04/2018
45672 Rs. 10 000.00 | 101 15/04/2018
45673 Rs. 50 000.00 | 103 16/04/2018
45671 Rs. 100 000.00 | 104 16/04/2018
Customer_Table Gift_Table
Acc NO Name Gift_No Gift Name
45670 C.K Nanayakkara 100 Pencil box
45671 B.K Malithi 101 Umbrella
45672 H.T Samantha 102 Bag
45673 M.M Silva 103 Electric iron
104 7 Mobile phone
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24.

25.

26.

2.

28.

30.

According to above information, answer questions from 24 to 26.

What is the answer of number of fields and number of records in Customer_Table and Gift Table
respectively?

(1)2,4and 5,2 (2)4,2and 2,5 (3)2,4and 2,5 (4)5,2and 4,2

In above database, an example for foreign key field is,
(1) Gift_No of Gift_Table (2) Acc_No of Customer_Tak
(3) Received Date of Customer_Gift Table (4) Acc_No of Customer_G @

What is the relationship between Customer_Table and Gift_Table in abo ta base

(1) One to one relationship (2) Onetoman

(3) Many to many relationship (4) Norelati

To display your photo in certain position in all slides of an elec ntation, you should insert

thatphotom ...
(1) Handout Master ide Mas‘
(3) Task pane e

In programming, identifiers are used whe , constant. What is the incorrect identifier

used in Pascal programming?

(1) mark (2) )subl - (4) AvgMark
The flow chart prepared

students for the se
Information and

t_no<=50, "You are Not selected", v
“You are selected"

(4) st no>=50, "You are Not selected",

"You are selected"
/ /

What are the control structures represented by No

this flow chart? / © /

(1) Repitition in Selection 7

st no=st_no+1

{2) Selection in Repitition
(3) Selection in Selection
(4) Repitition in Repitition v




31. Which s the output of below pseudo code?

begin
B=-1
forA=2 to 8 step 2
B =B+A
display B
Next A
End
13,6122 (2)2,4,6, 8, 33.7.13.2 (4)3,7,13,21

32. Whichisthe correct programamong these Pascal programs?
1) @) :

Program addition (input,output); Program addition (input,
var n : integer; var n : integer;
begin begin
for n= 10 downto 1 do for n == 10 downto
write(n) write(n
n =n+1 n:=n+
readln readin;
end. end.

® Program addition (input,output);’

var n := integer;
begin
forn : 10 downto 1 do
write(n);
n: n+l;
readin;
end.

33. Consider the following statemen

1) Ao ) Aand B only

(3) Aand C only 4) ALIA,.Band C

34. Con g statements regarding the implementation ofan information system.,

A - timplementation, integrated system implementation is decided based on the success
of selected sample.

B - Direct implementation is most suitable implementation method for the security of data and
information of the system.

C - Phase implementation can be used for the ease of system implementation and the ease of
user.

Which s the correct statement/ Statements among above statements?

(1) Aonly (2) Aand Boonly (3) Aand C only (4 AllA,Band C
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36.

37

38.

39.

40.

35

Select the most suitable statement regarding IP address among below statements.
(1) IPaddress is used to identify each device in internet.
(2) IPaddress is used to uniquely identify web sites in internet.
(3) IPaddress is used to uniquely identify e-mail accounts.

(4) IPaddressis used to uniquely identify a device or a web site in internet.

Useless emails received by us is stored in a separate place without disturbing. What is the name of
that place?

(1) Draft (2) Outbox (3) Trash (4) Sp
Whatis used to convert Uniform Resource Locater (URL) into IP address?

(1) DNS (2) Mail Server (3) Web Server ebbrowser

Pixel is the basic building block of a digital graphic. When amount of

xelisincreased, its'
color amount is also increased. What is the coloramount, ifj

'amount of bits are four?

4 (4) 64

138 2) 16 33

Afamous tool which is currently used to do pr

(1) Port Program (2) Arduin

Social networks are famous we

e world. Which can be considered as a social
web site among them?

(1) Second life (3) Fedora " (4) Google chrome
WA&

.\Q
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inputted his secret pin number. ATM machine di balance amount of the
account after validating the ATM card and the PIN . Lonsider ATM as a system
and write down the input, process and the output for the 2

(ii) Online shopping is becoming more popularg de*day among people when buying
products. Online shopping has 1 and disadvantages. Write down one

advantage and disadvantage.

(iii) In the below table, d tio the
column Y (letter P — Q). Waite e matching number and the letter from column

Jumn X (number 1-5) has a matching term in

X and column Y.

Jumn X Column Y
¢ mail was invented to the P | Java

uence Control Calculator Q | Joseph Jacquard
. evel programming languages R | UNIX
rd concept was invented by S | Tim Berners Lee
f the command line Interface Operating system T | Mark 1

a Drill event in a school sport meet, FD,, number of boys and 10010011, number
of girls were selected. Write down the total number of students who participated for the
drill event as decimal number.

(v) Write down the Boolean equation (F) for the following logic circuit.

= P
3 CE TR e
G
iR S F
QR
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* (vi) Following table illu

strates some tools used in word processin

Write down the letter of the tool which use to do the following tasks from the above
table.(marks are not given when provided multiple letters for a given task)

1. Change the line space in a document.

2. Paste a selected area of document in another place

3. Find word or a part of a sentence in a document.

4. Apply subscript for selected word.

(vii) Following ilhistrates a unique URL, which use to identif @ d information in
WWw.

A B D
,{ ! :
ttp: // www. @aksalajwa;moe.gov:';ﬁ?/ .si 1.html

isted Jetters (A- D) from the below listed

gram nt_no();

varnum : array[0..5] of integer;

egi
num[0]:15;
‘ num/[2]:5; 55
num(3]:num[0]+num[2];
\ numl'num(2]*s; SxS =<
writeln(num[1], num(3]);
end.

SM\5 2

(ix) Hunukumbura Maha Vidayala plans to establish an automated information system

instead of their manual information processing system to do their administrative tasks
efficiently. Write down 2 methods which can be used in

requirement gathering phase to
develop the new automated system



trates some tools used in graphic designing software. Write down the

(x) Following illus
do following tasks along with the appropriate task.

letter of the tool which use to

Select image background

Select a part from an image with any shape

Select a part from an image with a ellipse shape

Select the areas which have the same colour

Draw ellipse shape

) E
(A) Consider the following logic circuit which was designed g bicycle rider.
o3 6.

\- 1A

i B
R

Q.G

; Bicycle engine will swi
: wear the safety helmet (A

an expression F for the above logic circuit.

‘ ( Below! truth table represent the Boolean expression F = (A+B) AC .Copy the below

your answer sheet and complete column F.

[ R e
B0 | =
| CE e e
0 1 Oun |
Bl e
T g e B
1 R B 1
e -
; T 0 =
Rty

(C) Convert 657 g in to hexadecimal number with the steps.
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(03) (A) Following figure represents a document prepared by Word processing Software. Select

\ 4

the tools which can be used to perform the formatting indicated in the below labeling
A to H.

Mention the letter against the tool.

Bold, Italic, Underline, Bullets, Sort, left align, center align, Right align, Shapes,
pictures, hyperlink, Center indentation, Right indentation, Table

IMA Campus

Admission for the vear 2018 8
Course Number Course N ’ In charge
DN 01 Information My Bandara
DN 02 Mrs Chandani
/ DN 03 Mr Samarasivghe
IREE : . C
This oppor . - vears and get the maximum
r ‘benefit of that. Als will be granted for the selected best students
of the first year.

G

\ (i) Mention a advantage and a disadvantage in cloud computing. (2 marks)

(il) Mention two word processing software which use cloud computing concept.
(2marks) '

(iii) Write down two point which you should focus, when preparing power point

presentation. (2 marks)
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Below table represents the quantity of products purchased in January by Kumara Stores

Lo TR R IR« 1 154070 TR R K0 B W R §

o)

Use the above excel sheet to answer t

@)

in ce117H4

(i)

(i)

Agent gives 5% d
F11. Write down

Write down the equati

e

quation with functions to calculate the Total Net Value.

€ac

functionl (valuel:value2)

q

ey s R s - P 4a. - H 1 A
Kumara Stores
 of week = | = ot
- Name 4 o woues Total Item| Item Price = Gross Value | Discount Net Value
I1st | 2nd | 3rd | 4th i
SchoolBag 23 34 20 45 122 Rs,éfinﬁﬁ% Rs.54,900.00/
Bottle 40| 43 3 106] Rs.12000, Rs.12,72000)
HangBags 43| 40 45 23| 151 Rs34000, Rs51,340.00]
Shoes 15 78 67 34 194] R5.1,200.00! Rs.232,800.00, RS
Slippers 150 34 23 #4 116] Rs.250.00 R :
Watch_ =L 45 , 65 &l ‘170 Rs.#SO.QO ,675.00
Discount 5% Rs.434,397.00

Write down the appropriate values for functionl, valuel and value 2

V)

in the same chart for the given weeks.

otal jeost for January month school bag purchases

(2 marks)

tem they sell to Kumar stores. It is indicated in cell

by only using cell addresses to get discounted price for

(2 marks)

(2 marks)

(2 marks)

Write two chart types which can be used to represent purchased items and quantities

(2 marks)



(05) Following database tables shows the data related to vehicle parking charges stored in an
automated vehicle parking system :

Vehicle Table
Vehicle No Vehicle Vehicle Brand Vehicle Model
KW 5014 Car Nissan Sunny SpaceJable
AEJ 8596 Bus Tata Star Bus bl Ah
| AZO 5031 Jeep Toyota Hilux 1l x4
CAP 4063 Car Suzuki Wagon R i .
S10 10
S1 3
Vehicle Parking
Vehicle No Space ID Date Time In e Out Fees
KW 5014 S1001 13/Q4/2018 8.30 AM 10. Rs.200.00
AZO 5031 S1004 14/04/2018 4’PM Rs.200.00
CAP 4063 S1001 14/04/2018 5.35PM Rs.200.00
AEJ 8596 S1002 5.45 PM Rs.300.Q0
KW 5014 S1003 11.10PM Rs.220.00
the table name for the above database. (2 marks)

pes for the below fields mentioned in above the
(2 marks)

(iii) “Explain "what is a composite key? Write an example by making use of above
database. (2 marks)

(iv) On 2018/04/15 a vehicle "car" brand "Toyota" model "Prius" number "ACB8974"
parked in the space "S1002" at 7.30 a.m. And the car left the park around 1.30 p.m.

(a) Mention the table/s which needs to update to indicate the above scenario.
(b) Mention the records in the above updated table/s. (3 marks)

(v) Mention relationship between vehicle table and space table in the above
database (1 mark)



——

06) (A) Old boy association of Gamunu Vidyalaya plans to develop a new Computer Based

Information System instead of present manual information system in-order to perform

the school administrative functionalities easily.

(i) To develop the above computer based information system they decided to use
software development life cycle (SDLC). Mention first two steps in System
Development Life Cycle (1 mark)

(ii) Mention two main points to consider when planning new Computer Based

Information Systems. (2marks)

(iii) List down 2 testing methods which can be used to test new Based

Information Systems

(iv) Propose a software development model to build n

Information System and describe the reason for se o

(B) Mr D. B. Jayasundara ((dbjaya76@fivestar .com), thi
r Mr. Joho

jsilva@@estar.com), superior in Top

star company sent an email to his sells manage n@topmachinery.com)

and copied that email to Mr. A. J. S]

machinery company.

facturing productions” and he sent

(sumith@ﬁvestar.com) who is a mechanic

ite down ¢ mail addresses in the blanks with the

+ discussed,please be kind enough to dispatch machine with out arny delay to collectiton 05/06/2018.
production in same week.

Tks
D.B.Jayasundara.

! sans Serif ~

L
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A) The below flowchart shows a scenario of 50 candidates who were selected to follow a
course in university. The candidates who get above 50 marks from the written exam
and 75 above marks from practical exam will get select to follow the course.

( Start )

A

No.of _Applicant=1

®

/ Input marks

Practical_marks>=75?

Result=Selected

X

No.Of_Applicant=No.of_Applicant +1
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In the above flow chart fill the missing blanks for A to G with appropriate labels.
(While NO.of Applicant<=50, Result = "Not selected”, True, False, False)

(B) Write the output for the below Pascal Code

’ Program Repetition (Input , Output);
| Var Num, Total: Integer;

} Begin

Num:=1;
Total:=0;
Repeat

(C) Consider computer program sists many processes then it becomes complex and

difficult to understandiBecause of that program consists with sub programs to become

more readab eas derstand. Wite down two sub programs used in Pascal

.\Q





